
↳eruzi↳Et
=I Holi +2 S

.

*
fCt')

,
ult' at

His

dt↓IMPis + 2 /
*
1f(t1 in-

18 a)
/

< 151 I
,
11 D =

t = [0
,T]S
a

=(131-
,
#/s+

=14012 is +
2 (f / /[0, , -

/5 a)
, 0
,
5]
,
H"It -I
~

isto, I , ries
+ If

(0, , fist)

C
<
- Iul(0,+I

,
+i) +Aiult

, 3 ,+El

lu
↳(50 ,+1

,
+13)

+ 10u([0
, ] , il)

-luoPre + I f (20
,
+1
,
11-1)



l'
([0 ,5]

,
+1) +

-Iuore+ I f ( ([0,+1, +1-1)

1 ul (20,+] ,+
+2)

-Iuo + If /(20
,
+1
,
+1-1)

X

↑2 P
&

1n()[0 ,T] , H
+ 5)

lettfl)50 , +1
,
i
-2)

=sulent I alte te
H

M
1 + 5 = (1 - )1 + %(+ 1)

=

= 1 + E

Inhyt = / Julie



=I In * Inspirte /
t

I
=In I luisti

④=In In +

=I volis + 1 fly, -1
141 (50 , I , Fiv)

Vit: ( Sal eupf (t'
,

5) 1
* d5)E

0 t t

V(t) < 1 uns
+ Ez If'(t0

,4],
++)

(t
,
3) = e t13P(3) + (até- (t -+(134((t

,
3)

- -1312
Int

,
3)1 = e 1o(3)/

+ I Flico, Co
,
+d



** -2+19
It = -e

te

I
I

1
-

supct's A ~ 2 21312
I - -131

13 In(t
,
5)1 = e 1Yo(3)/ 1313

+ 1 Fic0,
- 15/1-1

-E 121

V(t)

sup·:I luiet
+E(f([(0

,
t
,
+i)

Novies - Stokes E vation9

2=u
+ u .n - Au = - Yp

E V. = 0

Wit=
= 4
-



n . Du = u. u
,

= UnCrY ,
e
,

=Wr(m)-(mm) Y
ne

0

dir (uku)
d

new = GUeE, Tr
,
= 2

d
die (MansY = 92m Mas

,
= 2

2-An+ dir (UQu) = - p N
.1

(- P) u = 0 => Gu
,

Du ore

diergence free

(1 - 1P)Au = A(1 - R(u =0

(1 - 4) dir(nQul=- Yp

titucul= 0



Def ht 4. = [ (RM)
-

An + Lex([0,) + RY, Ma)
ruch that u - (i([0 ,

+3)
,
L(+4))

(t -<u(t), b) = ( ([0 ,
+ d)

,
te) Fo

arch dir u(t)= 0 i a wook

whutom * y = (2r([0 ,+x+R4,4)

<uCt)
,
Y(tK =

=S (Cult), bYCt +Cult ,EY (tIK
- <dir(uRul

,
Y) ( dt

+ < Yo
,
Y(0)>

I dir (uQu)
, Y > =

=<-(umY
,
) , 4j > = -<UmY , an

24 + u .
Xn-Au = - Yp ( , n )



⑳
ne

[z V
,
4) + [u . Du

,
4) - /An

,
>

= <Yp
,
>

e
O

(G
,
4
, 4) = - (P , 24, ) = e

[4.. Um , Ye = <2 (Yum) , Ya>

= <Y
,4m(4x)

= - =<, (UnaK

= = <2, 4, 44n)S
2
I

<24 , 4) - <Au, n)
= 0

t Il 2 +21 Jul = 0

luctlt) Presid



Tra uo =L (44) d = 2 , 3 , dirigere free.
-

Then I a wook solution

n =(
+

,
H)n[er(x , V)

such that the following energy
magnolit holds :

InCtR+2) 18nCldt' In

The (cose d=2) The volution is unique,
u= ( ( [0 , +x), 2) and the energy

identity is volich
.

Lemmo d = 2
,
3

15
, f) =(: (1 ,+4)--> dincuent

,

tR

exterds uniquely

CH /R, MY)- M

and I Ca sit



I <di(naw)
, 21 ul con rivel

and if dinto we hove

<dir (uc v)
,
~L = 0

.

Iconlumsl , yL)=1- <un ,wat
<I Unw/p 104/p
=I Un 151 y

- EN 18 uml Mal .... 184


